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1. e fAaRe Pof spiR e fan 1x8=8

Answer the following as directed :
(a) SR @R R SRy Remse =02

Which of the following is not a subject-
matter of macroeconomics?

) P I {/
Increase in the aggregate price level
(i) I <GB v vifRm %

Increase in demand for a particular
commodity
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(2)

(i) ST Beomm
Aggregate Production
(iv) 51 SRR 35 P ]
Total employment rate of an economy
(o= St a1k Sy )

( Choose the correct answer )

(b) TEFRS e @re GNP
During inflation, the nominaj GNP is
() 4TS GNPSOS 9 =
less than real GNP
(i) *FS GNPSIF ofiT 55
more than real GNP

(i) 2FS GNPI S o3
equal to real GNp
(0% Bt a1k By )

(Choose the correct answer )
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(d) @R R T SR B

The basic assumption of Keynesian
theory is

@) 4 e

full employment

(i) o fRgete =

less than full employment

(ii) < FRERT @R

over-employment

(iv) €T oIS T
None of the above

(o Teachr MR B )

( Choose the correct answer )

() Rera TgR “RTT OGF b1 R Fr i

Write on the limitation of Fisher’s
quantity theory of money.

(N TR @Ol ARTESRE dqR?

Which of the following is a flow variable?

() Ricne |

Investment expenditure
(i) Icss T

Budget deficit

B =
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(4)

(i) FFRR 2/
Unemployment rate
(iv) S°}q qbre =

None of the above

(o3 Tt a1 Bovey )

( Choose the correct answer )

(9) TR &GRS STy %' it
There is equilibrium i
market when the money

(i) MD—MS=O
(W) (Mp - Mg)>0
(iii) (MD_M3)<O

(0% SoThr IR ey )

( Choose the correct answer )
(h) ooF 31 sfies o
What is direct tax multiplier?

2. w1 FCT R @ o
(2fSeEr 150 e foege) .

Write short notes on any four of the f i
(within 150 words each) ollowmg

SRS 5 G fory

(a) GDP & Fomq
GDP and welfare
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(b) Ww@%@w@amﬁﬁm«wﬁw

. - . ¢ * e
Difficulties of estimating natlona; incom
| in an underdeveloped country

|
| (c) O FH
{ “Liquidity trap

, (@ o YErdfs o T R

Hyperinflation and its effects

() oM PfAW TR T L Ed |
Simple Keynesian model of income
determination

| oo erp TR (2f¥C51 500 = fog®) :

[ 0 \

Answer theb following questions (within 500 words
s

each) :

[RA
S R were TifFe RS RTPR o
> 1 oF BrEet SeTE (el | 6+6=
L2l
lain' various concepts rel'ate.d te:—?
| f::i)ional income and show their -in
relationship.
&gq/ Or
901
(b) IR WA oA W &FY T AT
i of
Explain the scope and importance
macroeconomics.

( Turn Over )
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4. :
() Ww’fmﬁ%ﬁ?@m?% 6. (@) () TEPHIS SRIPE LR I+ | 4
T Q?QQ?E?? TI-IRe :mg glucidate the concept of Inflationary
MR rafeT ap.
What is valye 6+3+2=11 () B RRn Wi o T

ways does it :dded. method? In what
ake Improvement upon

. t
Mention two limi::l?ilo output method?

ARITR AP F 7
Explain various economic and social
effects of inflation.

method. ns of value-added
&gl / Or
3T /
(b) R Ry o (b) vRTSRS e FEee Tl {2 ot
W@%q-ﬁgmﬂl“ﬁﬁ?mﬁﬁ% P g A IR TP IR
SRR 5y i S 9 | T+4=11
R} @ oo ¢ WBERTR ST
oS | oz, T g What are demand-pull and cost-push
RO inflations? Discuss the fiscal measures
‘ 2+9=11 to tackle demand-pull inflation.

5. (a)

ﬂ?w of income in a fgzs on the circular
With a proper mode] T-sector economy

RN e w1 11

7. (@) IR R B2 T @ PR T =

5 R (TR AR T AT I A ?
2+6+3=11

What is effective demand? In what way

is it determined? On what grounds is

it criticized?

et/ Or

(b) LM @R = RO W T
o ¥4 @, B o LM QIR RS T
[ F SRR ST e 0 2+7+2=11
Define LM curve. Derive it graphically
and explain the relationship between
the interest rate and income level
with the help of LM curve.
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. b
Quantity theory of mai:E;e

S’/ Or

(b) Wféﬁwm
WWﬁﬁWH]WIR‘ﬁWIW

L 2+3+6=11

approach of

Write the meani
Inonetary policy.
tools of monetary pog

P23/11258

g an .
What d objectives of

are th .
P Exm:irnous .
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